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ANSWERS. 89

(6. ) Ida' + 25^2 ^ 3^,.-. ^ 4,)^.^,, ^ ^g^^^. ^ ^^^^^ _

4+9+16+3+4+6' ^+^ + l2" + 3+|
(7. ) r/-' + h'' + r^ + 2(«/) - 2ar - 2hc

;

«2+ 62+ c-^_2a6 + 2ac-26c;
a'^ + //^ + '-' - 2(t/> - 2ac + 2hc.

(8.) x^ + |)/Hl-.«v+ 2x-j/;

a;* - 2(tx-3 + ((t^ - 2b)x' + 2ahx + //^.

/Q \ X* 2.r'' , 4a;2 ,
,

(^•) -9+-3-+-3-+^+l;
9.t-*-2.r3- 171^.2+ 2^ + 9; !!i! + »!il_2

9/4= 4w-
(10. ) aV + ?,2,/+ ^4+ 2ffA- + 2a6,n/+ 2hc'y

;

a;" H-' »= •>« o- <^..^-' + ^'4.1=
I !? 4. 22 ,2?/

?/

EXERCISE X.

Page 9. (1.) .T-H3a'V+ 3,«yH?/^;x''-3xV+3a;i/-j/3.,.3 + ^3+ ,3+
3x^,/+ 3^^'^ 4 'd.nf+ ^xz^+ 3j/s^ + 3(/'^;^ + Qxyz ; a;^ +
i/« - z^+ Zx-hj - ^x^z+ ^xy' + a.-;^^+ 3^^v2 _ 3 ,•,„ _ g^^^

(2-)mH^+3m+|; m^* —
T- — 3m+ -

;

(3.) (t3 _ ^,3 ^ ^3 _ 3^^7^ ^ 3^^^, _!_ 3^^«^ _^ 3^^^,, _^ 2^^^ _ ^^^^ _
6a6e

; 0} - W - c^ - 3(f -^t + 3a6'' - 3a'^(; + ^ac^ - 36^c -
36c^ + Gabc

; 1 + 3a; + 0*'^+ 1x}+ 6a;* + 3^-^ + .r«

(4.) 4(a + i)^ (5.) a\ (6.) (7.)

(8.) 2(rt-c)(6-rf). (9.) 2(1 + 3a*). (10.) 27.r'.

EXERCISE XI.

MISCELLANEOUS EXERCISE.

(!•) (2.) 0. (3.)

(4.) x2+ i/ + c'^ + 2.i;|/+ 2.r~ + 2i/,t. (5.) 2('l + 3a;*)

(6.) {a+hf.

(7.) Factor expression u-" - 8j/''' - 27/ - 18.ri/.:; and o..e
factor \fi x-2y- 'Sz, which is ecmal to zero. •

a:' -
8i/3-27z'= 18.np.

(8.) =0. (9.) 8x3. •

(10.) 0. (11.) a\
(12.) 8(x'^+ |/^)l


